Run 5007 mpswise, accO: All Run 5007 mpswise, acc(: Beam OFF

140 140
— Eniries: 2439 — Enitries: 2439
12|:|' __ Mear: 4. 1035 &/~ 00022 12|:|' __ Mear: -8.1035 «/- 00022
: Sid Dhev: 310081 +- D005 : Sid Dew: 01081 - 00015
100 — 100 —
80— go[—
60— 60—
40— 40[—
20— 20—
'D _l | | | I | | | | | | | | | | 1 'D _l | | 1 | | 1 | | | | | I | | | |
-5 4.8 4.6 4.4 4.2 —4 3.8 3.6 -5 4.8 4.6 —4.4 —4.2 —4 3.8 36
AccO/NAceO AccO/NAceD
- Run 5007 mpswise, acc0: Beam ON, Laser ON — Run 5007 mpswise, acc0: Beam ON, Laser OFF
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Accl/MNAccD

Run 5007 mpswise, Acc0 vs Time: All
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Run 5007 mpswise, AccO vs Time: Beam ON, Laser ON
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AccO/NAccO

AccO/NAccD

Run 5007 mpswise, AccO vs Time: Beam OFF
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Run 5007 mpswise, AccO vs Time: Beam ON, Laser OFF
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